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Feynman rules
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To get the scattering amplitude
it is good

enough to know the on shell vertex and

of course we can always use momentum

conservation ki o

with this we have s pipe
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This last line Is the result for ITT

scattering We just need to replace

pi p for the outgoing moments
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Note If one includes the quark masses

one instead obtains
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consider the integration by part
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The Feynman rule for this term



takes the form 8998994

permutations but k 0 on

the mass shell

Scattering amplitude is

independent of α and

agrees with previous result

Equally well one could use A derive

Feynman rules
and compute This

would be tedious but lead to the

same conclusion Note that α of

gives the simplest form of Leff This choice

corresponds to the T parameterization
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30 The external current part of f is
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